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QUESTION 1

What should the administrator investigate first to address this traffic slowness?

A. The virtual server indicates 14 slow connections killed

B. The pool member is unchecked
C. Interface 1.2 shows 9.2K errors
D. The pool shows no current connections.

Correct Answer: C

QUESTION 2

The F5 Visual Policy Editor (VPE) is unique to the F5 BIG-IP APM module; no other access management tool has this
capability. Select the features that the VPE provides. Select two.

A. Develop customized reports on user access
B. Customize landing or login pages

C. Establish highly detailed policies based on customer business requirements
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D. Configure authentication server objects
E. Perform multiple factors of authentication

Correct Answer: CE

QUESTION 3

What is NOT a benefit of using a SNAT?

A. ASM can be deployed easily

B. No changes are needed on the servers

C. Fail open is easy to add

D. Higher performance than other configuration

Correct Answer: D

QUESTION 4

When using SNAT, which additional IP addresses will the BIG-IP system change? (Choose two.)
A. The source IP address on the client to BIG-IP request packet.

B. The source IP address on the BIG-IP to pool member request packet.

C. The destination IP address on the BIG-IP to pool member request packet.

D. The source IP address on the BIG-IP to client response packet.

E. The destination IP address on the BIG-IP to client response packet.

F. The destination IP address on the pool member to BIG-IP response packet.

Correct Answer: BE

QUESTION 5

A BIG IP administrator is testing a web server behind ADC. The connection to a Virtual Server is successful but the
page is still not loading

Where should the administrator test to determine if the server is available?
A. from server-side interface in ADC.

B. from client side interface in ADC

101 VCE Dumps | 101 Practice Test | 101 Braindumps 3/4


https://www.geekcert.com/101.html
https://www.geekcert.com/101.html
https://www.geekcert.com/101.html

VCE & PDF https://lwww.geekcert.com/101.html
2024 Latest geekcert 101 PDF and VCE dumps Download
GeekCert.com

C. from Workstation client

D. from switch connected to ADC and Server

Correct Answer: A
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